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I took the snapshot at detector WBM, as you seen. The zone real time counter indicates the current is 170. but like below, the real interface rate 300s average indicated 542 packets per sec. There is big difference between the real interface rate and detector WBM real counter.

You should explain me this situation more specifically. 

detector#show int gi 1/2

GigabitEthernet1/2 is up, line protocol is up (connected)

  Hardware is C6k 1000Mb 802.3, address is x (bia x)

  Description:x
  MTU 1500 bytes, BW 1000000 Kbit, DLY 10 usec, 

     reliability 255/255, txload 1/255, rxload 1/255

  Encapsulation ARPA, loopback not set

  Keepalive set (10 sec)

  Full-duplex, 1000Mb/s, media type is SX

  input flow-control is off, output flow-control is off

  Clock mode is auto

  ARP type: ARPA, ARP Timeout 04:00:00

  Last input 00:00:34, output 00:00:26, output hang never

  Last clearing of "show interface" counters never

  Input queue: 0/2000/1339/0 (size/max/drops/flushes); Total output drops: 0

  Queueing strategy: fifo

  Output queue: 0/40 (size/max)

  5 minute input rate 948000 bits/sec, 542 packets/sec

  5 minute output rate 0 bits/sec, 0 packets/sec

     1003534949 packets input, 214118918464 bytes, 0 no buffer

     Received 452645 broadcasts (417322 multicasts)

     0 runts, 0 giants, 0 throttles 

     0 input errors, 0 CRC, 0 frame, 1339 overrun, 0 ignored

     0 watchdog, 0 multicast, 0 pause input

     0 input packets with dribble condition detected

     1299295 packets output, 120852216 bytes, 0 underruns

     0 output errors, 0 collisions, 3 interface resets

     0 babbles, 0 late collision, 0 deferred

     0 lost carrier, 0 no carrier, 0 PAUSE output

     0 output buffer failures, 0 output buffers swapped out

detector#show int gi 2/2

GigabitEthernet2/2 is up, line protocol is up (connected)

  Hardware is C6k 1000Mb 802.3, address is x (bia x)

  Description: [*dt-sw01.kcn.ic=S-Life TAP#2 int*]

  MTU 1500 bytes, BW 1000000 Kbit, DLY 10 usec, 

     reliability 255/255, txload 1/255, rxload 1/255

  Encapsulation ARPA, loopback not set

  Keepalive set (10 sec)

  Full-duplex, 1000Mb/s, media type is SX

  input flow-control is off, output flow-control is off

  Clock mode is auto

  ARP type: ARPA, ARP Timeout 04:00:00

  Last input 3d20h, output 00:00:43, output hang never

  Last clearing of "show interface" counters never

  Input queue: 0/2000/0/0 (size/max/drops/flushes); Total output drops: 0

  Queueing strategy: fifo

  Output queue: 0/40 (size/max)

  5 minute input rate 2000 bits/sec, 3 packets/sec

  5 minute output rate 0 bits/sec, 0 packets/sec

     982387 packets input, 98912459 bytes, 0 no buffer

     Received 11276 broadcasts (0 multicasts)

     0 runts, 0 giants, 0 throttles 

     0 input errors, 0 CRC, 0 frame, 0 overrun, 0 ignored

     0 watchdog, 0 multicast, 0 pause input

     0 input packets with dribble condition detected

     1002124272 packets output, 213804827901 bytes, 0 underruns

     0 output errors, 0 collisions, 3 interface resets

     0 babbles, 0 late collision, 0 deferred

     0 lost carrier, 0 no carrier, 0 PAUSE output

     0 output buffer failures, 0 output buffers swapped out

detector#

Card Detector Issue.
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This is Korea_zone card zone’s traffic real counters. As you seen the pps, the pps indicated ‘0’, there is no traffic toward Korea_zone card zone traffic. And the bps is so small. But the real interface like  below, the traffic is 4404 packet per sec. and 37Mbps. Why the detector didn’t receive the traffic from the MSFC? You should explain me specifically
dt-sw01.kcn.ic#show int gi 1/3

GigabitEthernet1/3 is up, line protocol is up (connected)

  Hardware is C6k 1000Mb 802.3, address is x (bia x)

  Description: x
  MTU 1500 bytes, BW 1000000 Kbit, DLY 10 usec, 

     reliability 255/255, txload 1/255, rxload 9/255

  Encapsulation ARPA, loopback not set

  Keepalive set (10 sec)

  Full-duplex, 1000Mb/s, media type is SX

  input flow-control is off, output flow-control is off

  Clock mode is auto

  ARP type: ARPA, ARP Timeout 04:00:00

  Last input 00:00:02, output 00:00:23, output hang never

  Last clearing of "show interface" counters never

  Input queue: 0/2000/7280/0 (size/max/drops/flushes); Total output drops: 0

  Queueing strategy: fifo

  Output queue: 0/40 (size/max)

  30 second input rate 37703000 bits/sec, 4404 packets/sec

  30 second output rate 0 bits/sec, 0 packets/sec

     89440945 packets input, 95394359992 bytes, 0 no buffer

     Received 58755 broadcasts (56698 multicasts)

     163 runts, 0 giants, 0 throttles 

     2368 input errors, 837 CRC, 838 frame, 16301 overrun, 0 ignored

     0 watchdog, 0 multicast, 0 pause input

     0 input packets with dribble condition detected

     8919 packets output, 739507 bytes, 0 underruns

     0 output errors, 0 collisions, 3 interface resets

     0 babbles, 0 late collision, 0 deferred

     0 lost carrier, 0 no carrier, 0 PAUSE output

     0 output buffer failures, 0 output buffers swapped out

x#

x#show int gi 2/3

GigabitEthernet2/3 is up, line protocol is up (connected)

  Hardware is C6k 1000Mb 802.3, address is x (bia x)

  Description: x
  MTU 1500 bytes, BW 1000000 Kbit, DLY 10 usec, 

     reliability 255/255, txload 1/255, rxload 1/255

  Encapsulation ARPA, loopback not set

  Keepalive set (10 sec)

  Full-duplex, 1000Mb/s, media type is SX

  input flow-control is off, output flow-control is off

  Clock mode is auto

  ARP type: ARPA, ARP Timeout 04:00:00

  Last input 00:00:26, output 00:00:52, output hang never

  Last clearing of "show interface" counters never

  Input queue: 0/2000/0/0 (size/max/drops/flushes); Total output drops: 0

  Queueing strategy: fifo

  Output queue: 0/40 (size/max)

  30 second input rate 0 bits/sec, 0 packets/sec

  30 second output rate 0 bits/sec, 0 packets/sec

     370301 packets input, 377610061 bytes, 0 no buffer

     Received 8420 broadcasts (8174 multicasts)

     0 runts, 0 giants, 0 throttles 

     0 input errors, 0 CRC, 0 frame, 0 overrun, 0 ignored

     0 watchdog, 0 multicast, 0 pause input

     0 input packets with dribble condition detected

     45432733 packets output, 48651197970 bytes, 0 underruns

     0 output errors, 0 collisions, 3 interface resets

     0 babbles, 0 late collision, 0 deferred

     0 lost carrier, 0 no carrier, 0 PAUSE output

     0 output buffer failures, 0 output buffers swapped out

dt-sw01.kcn.ic#

This is the current running-config at MSFC. We use the VACL for forwarding the traffic from MSFC to Detector module. The VLAN numbering is like this , if the interface is 1/2 , the interface 1/2 associates VLAN 12. So Korea_zone life interface & VLAN is G1/2, G2/2, Vlan 12, 12 and Korea_zone card interface & VLAN is G1/3, G2/3, VLAN is 13,23. You must check the configuration whether correct
